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Question Number : 1 Question Id : 6154751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the two zetz given below. Set I provides levels of teaching while Set II gives their focus of
concern :

Set I Set II
(Levels of Teaching) (Focus of concern)
(a) Autonomous development level (1)  Problem raising and problem solving
(b) Memory level (1) Affects and feelings
(c) Understanding level (1m1) Recall of facts and informations
(d) Reflective level (1v) Seeing of relationship among facts and

their examples

(v) Peer learning

Select correct answer from the options given below :

(D (a)-(1). (b)-(11). (c)-(av). (d)-(v)
(2) (a)-(1). (b)-(1v). (e)-(11). (d)-(11)
(3) (a)-(11). (b)-(111). (c)-(xv). (d)-(1}
(4) (a)-(v). (b)-(1v). (c)-(11). (d)-(11)
Options:

£154751. 1

154752, =

6154753 3
E154754. 4

Question Number : 1 Question Id : 6154751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(1). (b)-(11). (e)-(1v). {(d)-(v)
(2) (a)-(1). (b)-(1v). (e)-(111). (d)-(11)
(3) (a)-(11). (b)-(111). (e)-(1v). (d)-(1)
(4) (a)}-(v). (b)-(1v). (e)-(111). (d)-(11)

Options:

154751,

154752,

1
2
5154753 3
5154754 4

Question Number : 2 Question Id : 6154752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In the context of classroom teaching. the foundation on which a warm and nurturing
relationship with learners can be built 1s called :

(1) Probing (2) Teacher Affect
(3) Structuring (4) Feedback

Options:

6154755 1
6154756 2
6154757 2
6154758 4

Question Number : 2 Question Id : 6154752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154755 1
6154756 2
6154757 2
6154758 4

Question Number : 3 Question Id : 6154753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

From the list of learning outcomes indicated below. identify those which are said to be high
level outcomes :

{(a) Learning of facts and rules

(b} Showing the abilitv to analvse and svnthesize
(c) Awareness. responding and valuing

(d) Imitation. manipulation and precision

(e) Articulation and naturahzation

(f) Organization and characterization

Select correct answer from the options given below :

(1) (b), (e) and (f) (2) (a). (b) and (c)
(3) (b). (¢) and (d) (4) (a).(c)and (D
Options:

154759 1

1547510 2

61547511, 2

61547512 4

Question Number : 3 Question Id : 6154753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
154759 1

B1547510. 2
51547511, =5
51547512 4

Question Number : 4 Question Id : 6154754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following sequences correctly reflects the evolution of educational

technology support in higher education?
(1) Programmed learning material, text book support, online and modular material

(2) Text book supplementation, programmed learning material, modular material and

online methods
(3) Modular material, programmed learning, online and text book supplementation

(4) Online methods, modular material, text-book supplementation and programmed

learning material
Options:
15475121
61547514, 2
61547515, 2



E1547516. 4

Question Number : 4 Question Id : 6154754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
15475121

BE1547514. 2
61547515 =5
51547516 4

Question Number : 5 Question Id : 6154755 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the two zets given below 1n which Set I mentions levels of measurment and Set II
their properties :

Set I Set I
(Levelz of measurement) (Properties)
(a) Nominal (1)  Classification. order. equal umits and
absolute zero
(b)  Ordinal (1) Claszsification, order and equal units
(c) Interval (111) Classification
(d) Ratio (1v) (Classification and order

Select correct answer from the options given below :

(1) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(2) (a)-(11). (b)-(1m). (c)-(1v). (d)-(1)
(3) (a)-(11). (b)-(1). (c)-(11). (d)-(1v)
(4) (a)-(111). (b)-(v). (c)-(1). (d)-(1)



Options:

615475171
61547518, 2
51547519, 2
61547520, 4

Question Number : 5 Question Id : 6154755 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single

Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(1). (b)-(11). (e)-(111), (d}-(1v)
(2) (a)-(11). (b)-(111). (c)-(v). (d)-(1)
(3) (a)-(111). (b)-(1). (e)-(11). (d)-(1v)
(4) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)

Options:

61547517, 1

61547518, 2
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Question Number : 6 Question Id : 6154756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single

Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



Identify the tests from the list given below. which are maximum performance tests in the

context of research :

(a) Personality tests
(b) Projective personality tests
(c) Achilevement tests

(d) Attitude tests
(e) Intelligence tests

(f) Aptitude tests

Choose correct answer from the options given below :

(1) (a). (b) and (c) {2) (b) (c) and (e)
(3) (c). (e) and () (4) (a). (d) and ()

Options:

61547521, 1
61547522, 2
61547523, 3
61547524, 4

Question Number : 6 Question Id : 6154756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475211
61547522 2
£1547523. 2
61547524, 4

Question Number : 7 Question Id : 6154757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following research 1s cyelic in nature?

(1) Fundamental rezearch
(2) Applied research

(3) Action research

(4) Evaluative research

Options:

615475251
61547526, 2
61547527, 2
£1547528. 4

Question Number : 7 Question Id : 6154757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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51547525 1
61547526, 2
61547527 3
£1547528. 4

Question Number : 8 Question Id : 6154758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In which of the following sampling methods emploved 1n research. the units comprising the

sample are given equal and independent chance?

(1) Stage sampling
(2) Cluster sampling
(3) Dimensional sampling

(4) Snowball sampling

Options:

61547529 1
61547530, 2
61547531, 2
61547532 4

Question Number : 8 Question Id : 6154758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Options:

61547529, 1
61547530, 2
61547531, 3
61547532, 4

Question Number : 9 Question Id : 6154759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The 1ssue of research ethics becomes relevant in which of the following stages of rezearch?

(a) Problem selection

(b) Hypothesis formulation

(c) Hypothesis testing

(d) Data analysis and interpretation

(e) Defining of research population

Select correct answer from the following options :

(1) (a) and (b) (2)  (c) and (d)
(3) (b} and (e) (4) (c) and (e)

Options:

615475331
61547534 2
61547535 3
£1547536. 4

Question Number : 9 Question Id : 6154759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

£1547533 1
61547534, 2
61547535, 2
61547536, 4

Question Number : 10 Question Id : 61547510 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In which type of qualitative research designs. individual stories to describe the lives of
people are explored?

(1) Ethnography (2) Grounded theory research
(3) Svmbolic interaction (4) Narrative research

Options:

15475371

1547538 2

215475359 2

1547540 4

Question Number : 10 Question Id : 61547510 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475371
61547538, 2
61547539, 2
61547540, 4

Question Number : 11 Question Id : 61547511 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mini-summaries at the end of each class 12 called

(1) Verbal break-up
(2) Clichéd conclusion
(3) Verbal signposting

(4) Staggered conclusion
Options:
1547541, 1
E1547542 2
61547543 3
61547544 4

Question Number : 11 Question Id : 61547511 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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61547541, 1
61547542, 2
61547543, 2
61547544 4

Question Number : 12 Question Id : 61547512 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Micro expressions, as part of classroom communication. are

(1) negative
(2) positive
(3) manipulative

(4) fleeting

Options:

51547545 1
61547546, 2
61547547, 3
61547548, 4

Question Number : 12 Question Id : 61547512 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fefl H TS0 1 THE F =9 4, gan afysatean 26
(1) EEAMEEET
(2) O ATHT

(3) B YE

(4) amsA
Options:
£1547545 1

E154754E6. 2



E1547547. 3
51547545 4

Question Number : 13 Question Id : 61547513 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following are essential for good classroom communication?

(a) Over-emphasis on certain words
(h) Use of gobbledvgook

{c) Proper emplovment of redundancy
(d) Immediacy of feedback

(e) Non-verbal cues

(f) Sidelining student criticism

Choose the correct option from the following :

(1) {(a). (b) and (c) (2) (b). (e¢) and ()

(3) {c). (d) and (e) (4) (d). (e} and (f)

Options:

51547549 1
61547550, 2
£1547551. 2
61547552, 4

Question Number : 13 Question Id : 61547513 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FA1 § =0 TN 2d HeAfafEa O 9 =4 o1 Jae 27
(a)  Hidud Yieal W Afaem Sr o s

(b)  HETETH UF WHEH Feal WA

(¢)  THTIHA =1 GU=F 3T

(d)  SidIE =i dIchfasal

(e) -7 Hehd

(f) DT ST =Rl T TOTARAT i 3947 1

frafafaa § T o faeg 9fu .

(1) (a). (b) 94T (c) (2)  (b). (c) T4 (f)

(3) (e). (d) 9T (e) (4) (d). (e) T4 ()
Options:
1547549 1
61547550 2
651547551, 3
61547552, 4

Question Number : 14 Question Id : 61547514 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Pitch of the teacher's voice in the classroom 1s described as

(1) Linguistic (2) Paralinguistic
(3) Non-linguistic (4) Macro-hnguistic
Options:

15475531

61547554 2

61547555 3

61547556 4

Question Number : 14 Question Id : 61547514 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E1547554. 2
61547555 5
51547556, 4

Question Number : 15 Question Id : 61547515 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — One 15 labelled as Assertion (A) and the other 1s labelled
as Reazon (R).

Assertion (A) ; If a teacher wants to improve his or her abilities as an effective classroom
communicator. he or she should first understand the students.

Reasons (R) : The ability to understand students and intended listening are disjointed
propositions.

In the light of the above two statements. choose the correct option from the following :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (4)

(2) Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
(3) (A) 1s true. but (R) 1s false

(4) (A) 15 false. but (R) 12 true

Options:

L1E47557. 1

L1E47EER 2

1547559 =2

1547560 4

Question Number : 15 Question Id : 61547515 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
15475571

E1547558. 2
E1547558. 5
B1547560. 4



Question Number : 16 Question Id : 61547516 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the missing term in the series given below?

2.4.6, 12, 10,36, 14,7, 15,524, .....
(1) 20 (2) 72

(3) 108 (4) 18

Options:

61547561, 1
61547562, 2
61547563, 3
61547564, 4

Question Number : 16 Question Id : 61547516 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

f=fafiga g@en § 99 3% #0127

2odoe; 12. 10; 36; 14, 2 18, 324 .

(1) 50 {2y 2
(3) 108 (4) 18

Options:

61547561, 1
61547562, 2
61547563, 2
61547564, 4

Question Number : 17 Question Id : 61547517 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Apoorav 1z son of Madhu. Vinod 1s brother of Madhu's husband. How 15 Apoorav related to
Vinod?

(1) Uncle (2) Brother
(3) Nephew (4) Cousin
Options:
15475651
E15475EE. 2
1547567 3
61547568 4

Question Number : 17 Question Id : 61547517 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547565 1
61547566, 2
61547567, 2
61547568, 4

Question Number : 18 Question Id : 61547518 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In a certain code "ENGLAND" 1z written as “ULSNYLV". Using the same code. “IRELAND”

will be written as

(1) HQUNYLV (2) QHUNYLV
(3) QUHNYLV (4) HUQNYLV
Options:

154756859 1

1547570 2

61547571 3

61547572 4

Question Number : 18 Question Id : 61547518 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
5 “ENGLAND” # &¢ “ULSNYLV" 2 1 3di e 9™ %1 $4m &4 T “IRELAND” # %2
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(1) HQUNYLV (2) QHUNYLV
(3) QUHNYLV (4) HUQNYLV

Options:

615475691
61547570, 2
£1547571. 2
61547572, 4

Question Number : 19 Question Id : 61547519 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The ratio of two numbers @ and b 1s 3 ;: 7. After adding 9 to each number. the ratio becomes
9 :17. The numbers ¢ and b are :

(1) (6. 14) (2) (9. 21)

(3) (15. 35) (4) (185.42)

Options:



BE1547573. 1
B154r574. 2
61547575 3
61547576 4

Question Number : 19 Question Id : 61547519 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (6, 14) 2y (9, 21)
(3) (15, 35) (4) (18, 42)

Options:

615475731
61547574, 2
61547575 2
61547576, 4

Question Number : 20 Question Id : 61547520 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The next term 1n the series

AT. EQ. IN. OK, .....1s

(1) UH (2 UP
(3) us 4y UU
Options:

615475771

61547578, 2

61547573 3
E1547580. 4

Question Number : 20 Question Id : 61547520 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ffefiad 4 1 3771 92 991 27

AT. EQ. IN. OK. .....
(1) UH {(2) UP
(3) us (4y UU

Options:
E1547577. 1

E1547578. 2
BE1547573. 3
615475580, 4



Question Number : 21 Question Id : 61547521 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“Evervone 1s going to the party. You should go too.” This inference commits which kind of
fallacy?

(1) Ad Populum (2) Eguivocation
(3) Ad Verecundiam (4) Ad Ignorantiam
Options:

15475811

E1547582. 2

S W

61547584 4

Question Number : 21 Question Id : 61547521 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547581, 1
61547582, 2
£1547583. 2
61547584, 4

Question Number : 22 Question Id : 61547522 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“All students cleared their examination” and “Few students did not clear their examination”.

This 1s an instance of

(1) Contradictories (2) Superaltern
{(3) Subaltern (4) Contraries
Options:

15475851

61547586 2

61547587 3

1547588 4

Question Number : 22 Question Id : 61547522 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tl BT T AT e I T T CHA SE1 A AT Wi 30 T8

7z FAitFa § O T 39 27

(1)  Tadremam (2) AlgHE (W 3AeeH)
(3)  ITEEr (4)  TaIETanes

Options:

61547585. 1

51547526, 2

E1547587. 5
E15475588. 4

Question Number : 23 Question Id : 61547523 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Product of two consecutive integers 1s divisible by 2. Therefore 4 x 5 (=20) 1= divisible by 2.
This 1s an example of which tvpe of Reasoning?

(1) Abductive (2) Informal
(3) Inductive (4) Deductive
Options:

15475891

E1547590. 2

1547591 3

61547592 4

Question Number : 23 Question Id : 61547523 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

21 T qUIT=R 1 OERA T 2 H a9y 21 94, 4 x 5 (=20) T 2 fawreT 2
T 750 THF F 9% 1 35 27

(1) TP (2) IR
(3)  STIEATHE (4) FTEATEE

Options:

61547589, 1
61547590, 2
61547591, 2
51547592, 4

Question Number : 24 Question Id : 61547524 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The distinction between laukika and alaukika is made with reference to which one of the
following pramanas?

(1) Anumana (Inference) (2) Upamana (Comparison)
(3) Pratvaksa (Perception) (4) S'abda (Verbal testimony)
Options:
£1547592. 1
61547594 2
61547595 3
£1547596. 4

Question Number : 24 Question Id : 61547524 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fafafas 4 O = wmmn = g ° HilRET T4 3T T 0eT a1 §E R 9 2t

(1) A (2) 3ITHH
(3) Tcg4 (4) THleqg

Options:

61547593 1
51547594 2
51547595, 2
61547596, 4

Question Number : 25 Question Id : 61547525 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Some students are sincere’ 1s an example of which preposition?

(1) Universal Affirmative (2) Universzal Negation
(3) Particular Affirmative (4) Particular Negation
Options:
615475971
61547598 2

61547533 =5
E15475100. 4

Question Number : 25 Question Id : 61547525 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“FP D FcAHE ¢, IT 70 TFER F THATT T IS 57

(1)  OE4H @99 (2) T e
(3)  faum faem (4) TafTe fHug
Options:

15475971

515475398, 2



E15475393. 5
615475100 4

Sub-Section Number: 2
Sub-Section Id: 6154752
Question Shuffling Allowed : Yes

Question Id : 61547526 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension

Q. No. 26-30

The following table gives the percentage of marks obtained by five students in five subjects.
Maximium marks in each subject are given in the parenthesis below the subject name.

Percentage (%) Marks obtained
Student | Maths | Chemistry | Physics | English Physical Education
(100) (120) (150) (100) (100)
A 90 80 95 S0 a0
B 80 75 a0 70 80
C 100 95 95 85 a5
D 5 70 60 65 60
E 60 a0 65 50 70

Sub questions

Question Number : 26 Question Id : 61547527 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The ageregate of marks obtained by E 1s :

(1) 252.5 (2) 2b1.5
(3) 353.5 (4) 3bH2.5
Options:

E154r5101. 1
B15475102. 2
515475102 5
515475104 4

Question Number : 27 Question Id : 61547528 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What 1s the difference between ageregate marks obtained by A and C?

(1) 40.5 (2 41.5
(3) 42.5 (4) 43.5



Options:

615475105 1
615475106 2
15475107 2
615475108 4

Question Number : 28 Question Id : 61547529 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which subject. the students have obtained lowest average (%) percentage of marks?

(1) Chemistry (2) Physics
(3) English (4) Physical Education
Options:

615475105 1
615475110 2
E15475111. =
E15475112 4

Question Number : 29 Question Id : 61547530 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The agegregate percentage of marks obtained by C are :

(1) 92.20% (2) 94.17%
(3) 95.21% (4) 91.17%
Options:

515475112 1
615475114 2
£15475115. 3
E15475116. 4

Question Number : 30 Question Id : 61547531 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the average percentage of marks obtained by the students in Chemistry?

(1) T4% (2) 7T9%
(3) 80% (4) 81%
Options:

615475117 1
615475118 2
E1547511%9. =
E15475120 4

Question Id : 61547526 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)



Cuesticon Label | Comprehension

o5 9. 26 T 30

ffeafaa arfasr 4 o= fasal ° 9i9 @0 g we =6 T 3 SR aiasEdn g 2| ueas e o g
fama % 7 % 9= F+EF I ™ 2

(100) [ (150) | (150) | (100) (100)
A 00 30 95 30 90
B 30 75 90 70 80
C 100 95 95 85 95
D 75 70 60 65 60
E 60 50 65 50 70

Sub questions

Question Number : 26 Question Id : 61547527 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 2532.5 (2) 251.5
(3) 353.5 (4) 352.5
Options:

615475101, 1
E1547510Z 2
615475103 3
515475104 4

Question Number : 27 Question Id : 61547528 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A 3R C % T YHIR 1 3AF Faar 27

(1) 40.5 (2) 41.

L]

(3) 42.5 (4) 43.

L

Options:

615475105,
615475106,
615475107
615475108

e 1 P



Question Number : 28 Question Id : 61547529 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o0 Tama O @i 9 a0 99a (%) 9faea 3% 9 5 27

(1) ™A fagmA (2) it fagm
(3) AU (4)  FIHTER e
Options:

615475109 1
615475110 2
615475111, =3
615475112 4

Question Number : 29 Question Id : 61547530 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

C 3FT & Tohd- Jia9id 33 919 foha T 7

—

(1) 92.20% (2) 94.17%
(3) 95.21% (4) 91.17%

Options:

6154751121
615475114 2
15475115 5
615475116 4

Question Number : 30 Question Id : 61547531 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
= 93 § B w1 Aieg gfaee ureE = e

(1) 4% (2) 79%
(3) 80% (4) 81%
Options:

615475117 1
615475118 2
E1547511%9. =
E15475120 4

Sub-Section Number : 3
Sub-Section I1d: 6154753
Question Shuffling Allowed : Yes



Question Number : 31 Question Id : 61547532 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following 1s a programming language?

(1) Deep learning (2) Machine learning
(3) Artificial Intelligence (4) Python
Options:

E154r5121. 1
B15475122 2
615475123 5
615475124 4

Question Number : 31 Question Id : 61547532 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TtertEa O % U S 9 g v

(1) 2 = (2) HIEE AR
(3)  Fhm gig (4) TEEH
Options:

51547512101
615475122 2
615475123 3
615475124 4

Question Number : 32 Question Id : 61547533 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match Last I with Last II.

List I List IT
(a) WWW (1)  Volatile memory
(by JAVA (1) Non-volatile memory
(c) RAM (1) World Wide Web
(d) ROM (1v) Programming language

Choose the correct option from the following :

(1) (a)-(1). (b)-(11). (c)-(111), (d)-(1v)
(2) (a)-(11). (b)-(111). (e)-(1v). (d)-{1)
(3) (a)-(111). (b)-(av). (e)-(1). (d)-(11)

(4) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)
Options:

6154751251

615475126 2

E15475127. 2

615475128 4

Question Number : 32 Question Id : 61547533 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 &1 ge1-11 T oo &4

=1 = -11
(a) =g Zog 3 (WWW) (i)  THEd-Efe i
(b) ST (JAVA) (1) T-gfEdsie Jid
(¢) 1 (RAM) (ii1) des 92s 99
(d) ™ (ROM) (iv) ST e
FefaiEa 8 4 w@ fawen 94

(1) (a)-(1). (b)-(11). (e)-(111). (d}-(1v)
(2) (a)-(11). (b)-(111). (e)-(1v). (d)-(1)
(3) (a)-(111). (b)-(1v). (e)-(1). (d)-(11)

(4) (a)-(1v). (b)-(1). (¢)-(11). (d)-(111)
Options:
615475125, 1
615475126, 2
615475127, 3
615475128. 4

Question Number : 33 Question Id : 61547534 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which description 1s appropriate among the following for ‘E-Governance'?

(1) To engage. enable and empower the citizens

(2) To provide fair and unbiased services to the citizens
(3) To provide technology driven governance

(4) To ensure people’s faith in E-Commerce applications
Options:

B15475129. 1
615475130 2
615475131 =2
615475132 4

Question Number : 33 Question Id : 61547534 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“F-TEAE" F [0 EdiEd 3 3@ F4 |1 G 399 2 7

(1) ST = 9rfier, g99n 3T o9 996
(2) AT 1 3fEA 3T 9EE T Tan
(3) SR ATed 9 ST

(4)  S-FOE FAITEM H F9 1 fAvam g w7

Options:

615475129 1
15475120 2
615475121 5
615475132 4

Question Number : 34 Question Id : 61547535 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s a search engine?

(1) Internet
(2) Bing
(3) Skvpe

(4) Acrobat Reader

Options:

6154751321
£15475124 2
15475135 =
615475126 4

Question Number : 34 Question Id : 61547535 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

MO T FH T 04 a9 27
(1) ZT7
(2)  Tem

(3) =hIzY (skype)

(4) UshielZ 1=t

Options:
615475132 1
615475134 2



E15475135 5
615475136 4

Question Number : 35 Question Id : 61547536 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements — One 1s labelled as Assertion (A) and other 1s labelled as

Reason (R) :

Aszertion (A):  The internet 1s a collection of interconnected computer networks, linked by
transmission medium such as copper wires. fibre-optic cables. wireless

connections ete.

Reasons (R) : World Wide Web 1s a collection of interconnected documents.
In the right of the above two statements, choose the correct answer :

(1) Both (A) and (R) are true. and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true. but (R) 18 not correct explanation of (A)
(3) (A) 1s true. but (R) 1= falze
(4) (A) 1s false. but (R) 1s true

Options:

6154751371
15475138 2
15475139 =
615475140 4

Question Number : 35 Question Id : 61547536 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



J 31 #9920 0 €, U w AEEE (A) 3R 35 F T (R) Fa ™ E

FTFAE (A) 2302 Ad: TANAA FO2L I2a9H] #1 U% d9=4 2 91 914 & dr, FEa-Aes Fad,

ACTH F99H, TANE 48 J=00 HIAH] ¥ 21 26 2

T (R) : des 15 99 3d: TAlEd Yord| %1 T g0= 2|
3ITYF SHEI FHT AT H T I G

(1) (A) 3 (R) ZHT1 |21 2 31 (R). (A) =i T2 == 2
(2) (A) FT (R) SET B8 ¢ 31 (R). (A) il T =041 T8l ¢
(3) (AT 2, 5 (R) T 9E 2

(4) (A Td TE 2. T (R) T8 2

Options:

6154751371
15475138 2
15475139 =
615475140 4

Question Number : 36 Question Id : 61547537 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the Sustainable Development Goals from the list given below :
(1) Zero Hunger
(11) Quality Education
(m) Universal Primary Education
(iv)  Clean Water and Sanitation
(v) Green Agriculture

(vi) Climate Action

Select correct answer from the options given below :

(1) (1). (11). (111) and (1v) (2) (1) (111). (1v) and (v)
(3) (111). (1v). (v) and (1) (4) (1). (). (av) and (v1)
Options:

E154r5141. 1
B15475142 2
615475142 =



E15475144 4

Question Number : 36 Question Id : 61547537 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tafafigs § o guwotm fTm + =231 Ff 72=3r Fifau
(D I (S ER)

(i)  ToTEETgel e

(iii) T g e

(iv) =8 9o AR ==gdl

(V) i FiN

(vi)  eAar] H

!:. F (i r-r- r “ﬁﬁﬂ%ﬁ'mﬂr ,ﬁ|:_'.1:

(1) (1), (i1), (i11) 37 (iv) (2) (). (). (iv) 3 (v)
(3) (iii), (iv). (v) 3T (1) (4) (1. (1i). (iv) 3T (v1)
Options:

615475141, 1
BE15475142 2
515475142 5
615475144 4

Question Number : 37 Question Id : 61547538 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match the following two sets. Set I lists the names of states. while Set II indicates state

specific missions.

(a)
(b)
(c)
(d)

Set I
Andhra Pradesh
Gujarat
Maharashtra

Rajasthan

(1)
(i1)
(111)

(1v)

Set II
Mukhya Mantri Jal Swavalamban Abhivan
Jalvukt Shivar Abhivan
Neet:1 Samrakshana Udvamam

Sujalam Sufalam Jal Abhivan

Select correct answer from the options given helow :

(1)
(2)
(3)
(4)

Options:

(a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(a)-(1v). (b)-(111). (e)-(11). (d)-(1)
(a)-(11). (b)-(1). (e)-(av). (d)-(111)
(a)-(111), (b)-(1v). (c)-(11). (d)-(1)

E154r5145 1
E15475146. 2
515475147 =
615475145 4

Question Number : 37 Question Id : 61547538 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TeAfatad 21 521 1 gifed itay| T2.1 § T4 % 919 311 3201 § = fafse whem () i g
071 211
(a) 319 929 (1) HEATH 0 FEEead A9
(b) T (1) eI Sal ANEH
(c) THEATE (ii1) T TEeq 3=my
(d) TTEEH (iv) HSH TFAH T A=
Tefaiad @%ed] 8§ T T2l 301 &1 994 Fil<0
(1) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(2) (a)-(1v). (b)-(111). (c)-(11). (d)-{1)
(3) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
(4) (a)-(111). (b)-(1w). (c)-(11). (d)-(1)
Options:

E15475145 1



E15475146. 2
615475147 =
615475145 4

Question Number : 38 Question Id : 61547539 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Average nolse levels in heavy traffic zones in major cities in India are generally in which of
the following ranges of noise levels?

(1) 31-40 dBA (2) 41-50dBA
(3) 70-95 dBA (4) 110-120 dBA
Options:

E15475149. 1
B15475150. 2
615475151 =5
615475152 4

Question Number : 38 Question Id : 61547539 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

qd % @2 W2 4 T AGEE &9 0 A0 A w9 A9 38 1 eiaigd 1 O B el il F 9w
(1)  31-40dBA (2) 41-50 dBA
(3) 70-95 dBA (4) 110-120 dBA

Options:

615475149 1
615475150 2
E15475151. =2
E15475152 4

Question Number : 39 Question Id : 61547540 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Montreal Protocol refers to

(1) Cooperation among UN member countries to combat climate change

(2) Phasing out the consumption and production of ozone depleting substances
(3) Ensuring environmental sustainability

(4) Safeguarding societal quality of life worldwide

Options:

515475152 1
615475154 2
E15475155. 3
615475156 4

Question Number : 39 Question Id : 61547540 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(2) AT 1 &0 3 9T 92191 F 32T H1T @99 =0 0EE B9 O OOH HE
(3) TR AGEOE HTEd H
(4) 9 Tava 1 SEa = w2

Options:

615475155 1
615475154 2
615475155 o
615475156 4

Question Number : 40 Question Id : 61547541 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which category Cochin International Airport has been conferred. the UN's Champion of
the Earth Award?

(1) Policy Leadership (2) Entrepreneurial Vision
(3) Science and Innovation (4) Inspiration and Action
Options:

E15475157. 1
E15475158. 2
515475159 5
515475160 4

Question Number : 40 Question Id : 61547541 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FHA FTIEHE 2R 312 F1 FeAfafga § 4 g 9o § 9% g 1 <Ha aiF g e e 5 mn
37

(1)  fifoma 5= (2) AW gfasq gfe
(3) o =i FEr (4) I i ety
Options:

E15475157. 1
615475158 2
E1547515%9. 3
E15475160. 4

Question Number : 41 Question Id : 61547542 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following modes of admission was prevalent in Nalanda University in anclent
times?

(1) Entrance Examination (2) Interview
(3) Good Academic Credentials (4) Peer Discussion



Options:

615475161, 1
615475162 2
15475162 2
615475164 4

Question Number : 41 Question Id : 61547542 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TAAHTA 0 ATl 99 Taanel 0 g 4 9 F5 = 7997 fatg s1aare =7

(1) 999 FHan (2) TETHR
(3)  IW S gEE (4) TEEAT T
Options:

615475161, 1
615475162 2
E15475163. 2
E15475164 4

Question Number : 42 Question Id : 61547543 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What are the current challenges in the field of higher education in India?

(1) Expansion

(11) Equity

(m) Funds

(1v) Examination Reforms
(v) Excellence

(v1) Entrance Examinations

Select correct answer from the options given below :

(1) (1). (1) and (v1) (2) (1), (1) and (1v)
(3) (11). (1v) and (vi1) (4) (1). (11) and (v)
Options:

515475165 1
B15475166. 2
615475167 5
E154751658. 4

Question Number : 42 Question Id : 61547543 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A § =t e & & § adne 1 g 87

(1) =

(11) AT
(i) T

(iv) T gYr
(v)  3chEdl

&

(vi) o] JEET

e Tou U fasedl § 9 @ 3 9HT

(1) (@), (i) 3T (vi) (2)  (ii). (iii) 3 (iv)
(3) (1i1). (iv) 3T (vi) (4) (1), (11) 3T (v)
Options:

E15475165. 1
BE15475166. 2
615475167, 5
E154751658 4

Question Number : 43 Question Id : 61547544 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following emphasized that education needs to be managed 1n an atmosphere of
utmost intellectual rgour. zeriousness of purpose and of freedom essential for imnovation
and creativity?

(1) National Policy on Education—19683

(2) National Policy on Education—1986

(3) NITI Aavog-Three Year Action Agenda (2017-18 to 2019-20)
(4) Draft National Education Policy—2019

Options:

£154751649 1
615475170 2
615475171 3
615475172 4

Question Number : 43 Question Id : 61547544 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



ffeigd § 4 9 30 99 W 94 G0 T 7 e w Yeed AT dllg® wedl 19Ral v FaEn
T GASAd # o0 37914 TEaadl & 9099 0 0 99 il A@9a:dl 8 7

(1) g foveqn ifd, 1968

(2) o forea fifa, 1986

(3)  Hifd IEmM-F-a9 F8 Ir=9497 (2017-18 T 2019-
(4) 9" ¥ fEen 19, 2010

]
=
b

Options:

615475169, 1
615475170 2
615475171 =
615475172 4

Question Number : 44 Question Id : 61547545 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

From the following, i1dentify the organisation that provides a common platform to all
universities including institutions of national importance :

(1) University Grants Commission
(2) Aszociation of Indian Universities
(3) Distance Education Council

(4) Indian Institute of Advanced Study

Options:

6154751721
615475174 2
615475175
615475176 4

Question Number : 44 Question Id : 61547545 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154751731
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Question Number : 45 Question Id : 61547546 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Creation of World-Class Universities requires :

(1) Autonomous governance

(11) Focused funding

(m1) Control over evaluation mechanism
(1v) Independent outcomes

(V) Appointment of staff by the State Machinery

Select correct answer from the option given below :

(1) (1), (11) and (v) (2) (1), (1) and (v)
(3) (111). (1v) and (v) (4) (1), (1) and (av)
Options:

615475177 1
615475178 2
615475173 3
615475130 4

Question Number : 45 Question Id : 61547546 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154751771
E15475178. 2
615475173 3
E15475180. 4
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Question Id : 61547547 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cesticn Label | Comprehension



ERead the following passage carefully and answer questions from 46-50.

Intra-industry trade arises in order to take advantage of important economies of scale 1n
production. That 1s. international competition forces each firm or plant in industrmal
countries to produce only one. or at most a few. varleties and styles of the same product
rather than many different varieties and styles. This 1s crucial in keeping unit costs low.
With few varieties and stvles. more specialised and faster machinery can be developed for a
continuous operation and a longer production run. The nation then imports other varieties
and stvles from other nations. Intra-industry trade benefits consumers because of the wider
range of cholces. 1.e.. the greater variety of differentiated products. available at the lower
prices made possible by economies of seale 1n production. Because of this. large welfare gains
arise from the abilitv of consumers to greatly increase the variety of goods that theyv can
purchase through trade. The 1mportance of intra-industry trade became apparent when
tariffs and other obstructions to the flow of trade among members of the European Union. or
common market were removed 1n 1958. It was found that velume of trade surged but most of
the increase involved the exchange of differentiated products within each breoad industirmal

classification.

Sub questions

Question Number : 46 Question Id : 61547548 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The 1mpact of international competition on intra-industry trade can be seen 1n

(1) the availlability of wide varieties of products
(2) the limited varieties of the same product
(3) adverse effect on industrial production
(4) restrictive advantages of production
Options:

5154751811
615475182 2
615475182 =5
615475134 4

Question Number : 47 Question Id : 61547549 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Mass production of a few varieties of products will result in

(1) low cost of unit
(2) advantage to industrial economies of scale
(3) benefits to the customers of important economies
(4) increased cost of production
Options:

E15475185. 1
E1547518E. 2
E15475187. 5
515475188 4

Question Number : 48 Question Id : 61547550 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Development and use of specialised machinery will lead to

(1) more varieties of products (2) decreased consumer welfare
(3) 1import of varieties of product (4) hindered intra-industry trade
Options:

615475189 1
615475130 2
615475131 =3
E154751392. 4

Question Number : 49 Question Id : 61547551 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Lower product price means

(1) continued production run

(2) absence of choice

(3) increase 1n trade information exchange
(4) imcreased consumer purchasing power
Options:

E15475132. 1
615475134 2
E15475135 3
E154751396. 4

Question Number : 50 Question Id : 61547552 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What was the consequence of removal of barriers to the flow of trade 1n European Union?

(1) Sluggish intra-industry trade

(2) Flow of uniform products

(3) Spurt in trade volume among member states
(4) Emphasis on differentiated products

Options:

615475197, 1
615475198 2
615475199
615475200 4

Question Id : 61547547 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No
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Question Number : 46 Question Id : 61547548 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
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Correct Marks: 2 Wrong Marks: 0
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Options:

615475181, 1
615475182 2
615475182 2
15475134 4

Question Number : 47 Question Id : 61547549 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475185, 1
615475186 2
615475187 o
6154751388 4

Question Number : 48 Question Id : 61547550 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547518%9. 1
615475130 2
E15475131. =
B15475132 4

Question Number : 49 Question Id : 61547551 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Y 397E §od 1 A9 7

(1) T 37918 T (2) TaF=3 F1 3399
(3) =AM g=AT fabe H gig (4) 3UHE = FA WkE ° Iig
Options:

5154751392 1
615475134 2
E15475135. =5
615475136 4

Question Number : 50 Question Id : 61547552 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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615475138 2
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E15475200. 4
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Question Number : 51 Question Id : 61547553 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
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Correct Marks: 2 Wrong Marks: 0
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Options:

615475201, 1

615475202, 2

6154752032 3
615475204 4

Question Number : 51 Question Id : 61547553 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475201 1
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B15475204. 4

Question Number : 52 Question Id : 61547554 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475205 1
B15475206. 2
615475207 3
615475208 4

Question Number : 52 Question Id : 61547554 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
"grgst gEwT € Arfost ¥ fefsomarst ot et Afosa fefsom @ vss @ 39 3 niuorBe ag3 mrefex
5t g=ar fa@fa €57 owrer fem wrdfaa 393t 33 § fogrfenr &t & Ra=m 1"

Sus=s s fam=r T

(1) ofgsws fRu (2) Az fFuA

(3) 39 fiwr (4) fummer fAwr ueH
Options:

615475205 1
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Question Number : 53 Question Id : 61547555 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 53 Question Id : 61547555 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
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Correct Marks: 2 Wrong Marks: O
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Question Number : 54 Question Id : 61547556 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
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Correct Marks: 2 WrongMarks: 0
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Options:

615475213 1
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Question Number : 54 Question Id : 61547556 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E15475212. 1
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Question Number : 55 Question Id : 61547557 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

6154752171
615475218 2
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Question Number : 55 Question Id : 61547557 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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Question Number : 56 Question Id : 61547558 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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Question Number : 56 Question Id : 61547558 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
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Correct Marks: 2 Wrong Marks: O
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Question Number : 57 Question Id : 61547559 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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Correct Marks: 2 Wrong Marks: O
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Correct Marks: 2 WrongMarks: 0
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Correct Marks: 2 Wrong Marks: 0
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Question Number : 108 Question Id : 615475110 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
SEEEg T 5E- YRSH:

i g%'- 57H JAG AGE
IL. YT Fd9- HioT oo
III. =w it foor ofoor- ree O=9

IV. gogR- feRo® HaHE

Guses e it T

(1) I3 IV (2) IIw3 III
(3) Imz 11 (4) IIIm3 IV
Options:

E15475429 1
B15475430. 2
615475431 =
615475432 4

Question Number : 108 Question Id : 615475110 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



sTeEEE 3 50— URSH:

L. H%'- 57H ARG FOE
II. YT Frdo- HfoT 5o
III. 5w fifdt foor gfonr- Aee O=9

IV. gugR- ferga HaHeE

Susas fev ATt T

(1) I3 IV (2) IInTII0
(3) I3 11 (4) TIIm3 IV
Options:

515475429 1
615475430 2
615475421 3
615475432 4

Question Number : 109 Question Id : 615475111 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AfgnmeIw ufgeass i feamnet yfafonr= 0w
! Afgnmeow fis &

IL. Afgnmesa fesawa
III. FAiEweex IHE
IV. rigwradiags

Qe e Rt 2 T

(1) LI IV (2) LIINIV

(3) IL. 11, IV (4) I1.1I. I
Options:

515475432 1
615475434 2
615475435 3
615475426 4

Question Number : 109 Question Id : 615475111 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AfgnmeIw ufseass S feamnet yfafonr= 0w
L Rfgnmarga fifls&
IL. Afgnmesa fesawa

III. FAfsnra9x oHE
IV. rfnradtaes

GuSas T RAtHZ T

(1) I I, IV (2) LIINIV

(3) il HI IV (4) I.II.IH
Options:

615475432 1
615475434 2
615475435 3
615475426 4

Question Number : 110 Question Id : 615475112 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Rfgmmamg 2 Wy ¥2F 75

I Ffos 8= & yfxed
II. e fefomms= feamr
III. #fes AT

IV. ySta=Hesr

Qs T RA Fe T

(1) II. II1. IV (2) L IL IV

(3) L 1L, IV (4 I II, I
Options:

B15475437. 1
B15475438. 2
515475439 5
615475440 4

Question Number : 110 Question Id : 615475112 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



III. #fe® AT

IV. ySasHasr

Qusas T RA Fe T

(1) 1L, 111, IV (2 LILIV

(3) I I, IV (4y I.II III
Options:

B15475437. 1
615475438 2
615475439 3
615475440 4

Question Number : 111 Question Id : 615475113 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

B 579 T HY BEE To:

i feg mfow gor g~ T, fer T nreret Frovas fieel o 32 o5

II. fer fonr wimet Aroree fHeet foe gfenr oo, feo Foss fow uT ot de
111, ferm few musr g5t 9, feR 3 far feim Aem Aemee &t &3 o0t o9&t

IV. foo rfow 59 de 9, feg Fe=s fem yor ot g

Qs T RA F= T

(1) I.IV (2) II III

(3) I, TIE (4) III. IV
Options:

B15475441. 1
615475442 2
615475442 3
615475444 4

Question Number : 111 Question Id : 615475113 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



B 579 € HY BEE T

i feg mfor mer der 9, fer T neret Fraras fieal fog Jahr o5

II. fer fenr nierer Ararez fieet fow gfenr s, feo Foss few uT oot de
111, fer few muzr 951t 9, fem 3 fan ferm mem remee &t &3 odt gt

V. feo Afow 59 9= 9, feu o= fem yor ot 3=

Qs T RAt Hz T :

(1) I IV 2y IL III

(3) I. IIT (4) III. IV
Options:

615475441 1
E1547544Z 2
615475443 3
E15475444 4

Question Number : 112 Question Id : 615475114 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ot SusTeT ¥ U39 AEdt Aot g2 O
I ufentar I warst

II. JuT 3 e

III. =f3ges Arfog T Aage

IV. wige 3 Usge

Sz T ROt H= T

(1) I, IV 2y ILIV

(3) I. III (4) IIL. IV
Options:

615475445 1
615475446 2
615475447 3
E15475445 4

Question Number : 112 Question Id : 615475114 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ot GusTET 2 U39 AEdT ROt §e 3¢
I. ufenrsr 3 Haat

II. JuUT 3 e

III. =f3ges ArioE 3 Aage

IV. nigw 3 Uege

Qusss e RA A= T

(1) I, IV 2y ILIV

(3) I. III (4) IIL. IV
Options:

615475445 1
615475446 2
615475447 3
615475445 4

Question Number : 113 Question Id : 615475115 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

UrrEt gt Usdt SustETeT = At He T
I sfaet 3 uSTat

II. Farst 3 BT

III. H®39 T so=sudt

IV. W=t 3 usast

s o RrdtEe T

(1) LIV (2) IILLIV

(3) I, I (4) II.IV
Options:

515475449 1
615475450 2
615475451 3
E15475452. 4

Question Number : 113 Question Id : 615475115 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Yes

Yes



UrrEt gt Usdt SustETeT = At He T
I sfaet 3 uSTat

II. Farst 3 BT

III. H®39 T so=sudt

IV. W=t 3 usast

Qe TRt e T

(1) L IX (2) IIL IV

(3) I, I (4) II.IV
Options:

615475445 1
615475450 2
615475451 3
515475452 4

Question Number : 114 Question Id : 615475116 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ugeR 79 fedfnr gre-usert Arfogersr & yrRser = fxosr §2 At O

-t

(1) RY-Fg - dAa

(2)  fegt ¥fent 7wt He - Tw 8R0S
(3)  SHBUR ¥ Heni - gy =o€ ug 2
(4)  HOE ¥ o - T TIA

Options:

615475452, 1
615475454 2
615475455 o
615475456 4

Question Number : 114 Question Id : 615475116 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TR 79 i se-uge Arfoserer S yRsE @ faosr d¢ At O
(1) RY-FA9 - aAa

(2)  fegt fent A@Et He AE- Tw §FHS

(3)  SHEGUR S HEr - gy efenr§ us @

(4) 92 & »iar - % =94

Options:

615475452 1
615475454 2
615475455 o
615475456 4

Question Number : 115 Question 1d : 615475117 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

yg=H UATEt Ao @ wEeer @ /Ot 852 9

(1) Afg=aus fAw, g99= fAw =t, ARSG 9=6

(2) =T, AAfees fRw, AiSesus ffw, 33 fifw et

(3) A<9G 956, ¥, AfSes fifu, gege fiw 5t

(4) 57, niHaR fRw Uat, gege fRw &=t, Afdesus fRw
Options:

£15475457. 1

615475458, 2

515475459 5
6154754680 4

Question Number : 115 Question 1d : 615475117 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

yg=H UATEt Ao @ wEeer @ /Ot 852 9

(1) Afgesus fRw, g99= fAw 5<t, AeSs 95

(2) =, AAfe=s fAw, Rifesus fAw, s3v fAw et

(3)  FA=9s g€, 5. AlSEs ffw, geue fAw ==t

(4) 57, »ivEte fiw Ust, goge fAw =t, afdeaus fw

Options:
615475457 1

E15475458. 2
615475459 5



E15475460. 4

Question Number : 116 Question Id : 615475118 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fet I get 11
(a) fo@zTus (1) Fsmr fgrste
(b) niSIUTSHII" (1) =@EHE Yy
(c) &&H T YIaH (111) firfes aufzs
(d) =go=t I At (iv) & T93
8usez = mat fies T

{1) (a)-(11). (b)-(v). (¢)-(111). (d)-(1)
(2) (a)-(1v). (b)-(11). (e)-(111). (d)-(1)
(3) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)
(4) (a)-(111), (b)-(av). (e)-(1). (d)-(11)

Options:

615475461, 1
615475462 2
615475463 o
615475464 4

Question Number : 116 Question 1d : 615475118 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Aet I Aet 11

(a) feEzzus (1) o@mr fgrster

(h) nSIUSSHAS" (1) =E=HE Yy

(c) &R I YTaA (i11) finrfes aufes

(d) =goet I ATt (iv) & T93
Sugas = Fdt e T

{1) (a)-(11). (b)-(1v). (¢)-(111). (d)-(1)
(2) (a)-(v). (b)-(11). (e)-(111). (d)-(1)
(3) (a)-(1v), (b)-(1). (c)-(11). (d)-(111)
(4) (a)-(111), (b)-(av). (e)-(1). (d)-(11)

Options:

61547546811
615475462 2
615475463 o
615475464 4

Question Number : 117 Question 1d : 615475119 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Aet I mat 11

L2}

(a) oEST §&3T HGIT AEtl oy d99 7 st (1) 39 wiee o=

get

(b) goH fomrat & Hfs ofe yermI#F o9 Gufs (i) s aEl
T

(c) oo UTH my a8 37 u9y AE (111) I MIAG =T

(d) = 4 E5 B9 Jf9 Afonr| T8 & 9 ¥y (iv) T9 56d =%
Hriemr

Susez = mat fies T

(1) (a)-(111). (b)-(1v). (c)-(11). (d)-(1)
(2) (a)-(1), (b)-(11). {e)-(111). (d)-(1v)
(3) (a)-(11). (b)-(i11). (c)-(1). (d)-(1v)
(4) (a)-(1v). (b)-(111), (e)-(1). (d)-(11)

Options:

615475465, 1
615475466 2
615475467 o
615475468 4

Question Number : 117 Question 1d : 615475119 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Aet I mat 11

L2}

(a) oEST §&3T HGIT AEtl oy d99 7 st (1) 39 wiee o=

get

(b) goH fomrat & Hfs ofe yermI#F o9 Gufs (i) s aEl
T

(c) oo UTH my a8 37 u9y AE (111) I MIAG =T

(d) = 4 E5 B9 Jf9 Afonr| T8 & 9 ¥y (iv) T9 56d =%
Hriemr

Susez = mat fies T

(1) (a)-(111). (b)-(1v). (c)-(11). (d)-(1)
(2) (a)-(1), (b)-(11). {e)-(111). (d)-(1v)
(3) (a)-(11). (b)-(i11). (c)-(1). (d)-(1v)
(4) (a)-(1v). (b)-(111), (e)-(1). (d)-(11)

Options:

615475465, 1
615475466 2
615475467 o
615475468 4

Question Number : 118 Question 1d : 615475120 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Ret 1 met 11

(a) FAIIT T =TT (1) a9 Ay TeeRust
(b) fa3darsr &t =9 (i) Foz fAw fizs

(c) <&t aaret (111) fiprrgr fRw Rfoeret
(d) TEysuTTe (iv) feos fAw A9
Suges = Ft i T

(1) (a)-(1v). (b)-(111). (c)-(11). (d)-(2)
(2) (a)-(111). (b)-(11). (c)-(1). (d)-(1v)
(3) (a)-(11). (b)-(1). (e)-(xv). (d)-(111)

i4) (a)-(1). (b)-(1m1). (e)-(1v). (d)-(11)
Options:
15475489 1
15475470 2
15475471 2
15475472 4

Question Number : 118 Question 1d : 615475120 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fet I Het 11
(a) FIIE & =9 (1) ou9 Ay IEeAYSt
(b) fsgarsr &t =g (i) Foz fiw fiss
(c) =@ ot (ii1) fipwar fRw mfoem=t
(d) FTEZyzucTy (iv) feos fiw fi
Gudez = mat e T

(1) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)
(2) (a)-(111). (b)-(11). (c)-(1). (d)-(1v)
(3) (a)-(11). (b)-(1). {(c)-(aw). (d)-(111)

i4) (a)-(1). (b)-(111). (e)-(1v). (d)-(11)

Options:
615475469 1



B15475470. 2
615475471 5
615475472 4

Question Number : 119 Question 1d : 615475121 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fet 1 Het 11
(a) oE A939 (1) 5. gg9ew fAw feaw
(b) HoH I HAG (1) 3ITEES
(c) forfoarsgeaw (1) Afom
(d) gFIE T TEE (1v) =T 553
sz = mat e T
(1) (a)-(111). (b)-(v). (e)-(1). (d)-(1)
(2) (a)-(1). (b)-(11). (e)-(av).{(d)-(111)
(3) (a)-(11). (b)-(111). (e)-(1). (d)-(1v)
(4) (a)-(11). (b)-(1). (e)-(1v), (d)-(111)

Options:

615475473 1
615475474 2
E15475475 =2
615475476 4

Question Number : 119 Question Id : 615475121 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



At 1 met 11

(a) o AEIT (i) 3, g9e= fAw fes=
(b) H3Y T HAS (1) JIEES

c) forfarsgeow (1) Ffom fRw

(d) gIE T TEET (iv) o= §5=3
Susas = wat fies T

(1) (a)-(111). (b)-(v). (c)-(11). (d)-(1)
(2) (a)-(1). (b)-(11). (c)-(xv). (d)-(1m1)
(3) (a)-(1). (b)-(u1). (c)-(1). (d)-(1v)
(4) (a)-(11). (b)-(1). (c)-(1v). (d)-(111)

Options:

615475472 1
615475474 2
615475475 o
615475476 4

Question Number : 120 Question Id : 615475122 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Aot I met 11

(a) =IF (1) HSIo Y

(b) FTES (i) fa= avs

(c) @3 (i11) THEH

(d) Hroo=t (iv) 3uz fiw
Sudaz = /Ot fies T

(1) (a)-(1), (b)-(11). (e)-(111). (d)-(1v)
(2) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)
(3) (a)-(11). (b)-(1)., (e)-(1w). (d)-(111)

(4) (a)-(111). (b)-v). (e)-(11). (d)-(1)
Options:
615475477, 1
615475478, 2
615475479, 3
615475480, 4

Question Number : 120 Question Id : 615475122 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Aot I met 11

(a) =IF (1) HSIo Y

(b) FTES (i) fa= avs

(c) @3 (i11) THEH

(d) Hroo=t (iv) 3uz fiw
Sudaz = /Ot fies T

(1) (a)-(1), (b)-(11). (e)-(111). (d)-(1v)
(2) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)
(3) (a)-(11). (b)-(1)., (e)-(1w). (d)-(111)

(4) (a)-(111). (b)-v). (e)-(11). (d)-(1)
Options:
615475477, 1
615475478, 2
615475479, 3
615475480, 4

Question Number : 121 Question Id : 615475123 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



"ot I mat 11

(a) . Tons fAw 1) YISt w3 UAE 58

(b) 2. w3, fese (i) JUmrEt STS S T YR

(c) @me fAw are (ii1) UFTE STTE niveTsst »iftrs

(d) wfaes fAw sfog (iv) =99 AWSH 3 oY Aos
&gz = Aot e T

(1) (a)-(11). (b)-(v). (e)-(1). (d)-(111)
(2) (a)-(111). (b)-(11). (e)-(1v). (d)-(1)
(3) (a)-(1). (b)-(111). (c)-(11). (d)-(1v)

(4) (a)-(1v). (b)-(1). (e)-(m). (d)-(111)
Options:
515475451, 1
6515475452 2
515475453 2
6515475454, 4

Question Number : 121 Question 1d : 615475123 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



"ot I mat 11

(a) . Tons fAw 1) YISt w3 UAE 58

(b) 2. w3, fese (i) JUmrEt STS S T YR

(c) @me fAw are (ii1) UFTE STTE niveTsst »iftrs

(d) wfaes fAw sfog (iv) =99 AWSH 3 oY Aos
&gz = Aot e T

(1) (a)-(11). (b)-(v). (e)-(1). (d)-(111)
(2) (a)-(111). (b)-(11). (e)-(1v). (d)-(1)
(3) (a)-(1). (b)-(111). (c)-(11). (d)-(1v)

(4) (a)-(1v). (b)-(1). (e)-(m). (d)-(111)
Options:
515475451, 1
6515475452 2
515475453 2
6515475454, 4

Question Number : 122 Question 1d : 615475124 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Aet 1 Aet 11

(a) HHeI qrgar (1) oex oo W3 99 By

(h) Fafens fAw g (i1) oex T

(c) wIA= fRu Aat (ii1) FaTHg

(d) Teues fRw (iv) Uwt orew: Agy, fras 3 feam
Susaz = mat e T

(1) (a)-(1). (b)-(111). (c)-(1v). (d)-(11)
(2) (a)-(1). (b)-(2). (e)-(11). (d)-(1v)
(3) (a)-(111). (b)-(1v). (c)-(11). (d)-(1)
(4) (a)-(1v). (b)-(11). (c)-(1). (d)-(11)

Options:

615475485 1
615475486 2
615475487 2
15475488 4

Question Number : 122 Question Id : 615475124 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Aet 1 Aet 11

(a) HHeI qrgar (1) oex oo W3 99 By

(h) Fafens fAw g (i1) oex T

(c) wIA= fRu Aat (ii1) FaTHg

(d) Teues fRw (iv) Uwt orew: Agy, fras 3 feam
Susaz = mat e T

(1) (a)-(1). (b)-(111). (c)-(1v). (d)-(11)
(2) (a)-(1). (b)-(2). (e)-(11). (d)-(1v)
(3) (a)-(111). (b)-(1v). (c)-(11). (d)-(1)
(4) (a)-(1v). (b)-(11). (c)-(1). (d)-(11)

Options:

615475485 1
615475486 2
615475487 2
15475488 4

Question Number : 123 Question Id : 615475125 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



At I Aot 11

(a) o5 T afos i) T fodt

(h) @EEs T ifos (i) fRurs, &3

(c) =T qAfoE (iil) WHENT TF B, TASUST
(d) us e afos (iv) Fo fodr, aremr
Sugars = wt fies T

(1) (a)-(1). (b)-(wv). (c)-(m1). (d)-(11)
(2) (a)-(11). (b)-(111). (e)-(1v). (d)-(1)
(3) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)

(4) (a)-(v). (b)-(1). (c)-(u). (d)-(1m1)
Options:

615475489, 1

515475490, 2

515475491, 3

£15475492. 4

Question Number : 123 Question Id : 615475125 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



At I Aot 11

(a) o5 T afos i) T fodt

(h) @EEs T ifos (i) fRurs, &3

(c) =T qAfoE (iil) WHENT TF B, TASUST
(d) us e afos (iv) Fo fodr, aremr
Sugars = wt fies T

(1) (a)-(1). (b)-(wv). (c)-(m1). (d)-(11)
(2) (a)-(11). (b)-(111). (e)-(1v). (d)-(1)
(3) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)

(4) (a)-(v). (b)-(1). (c)-(u). (d)-(1m1)
Options:

615475489, 1

515475490, 2

515475491, 3

£15475492. 4

Question Number : 124 Question Id : 615475126 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt 1 eI

(a) fufrs, sfrres (1) gusst ferrems

(b) =orE €, waer I fomr€ 1) 83 g feforrrs

(c) =99 °I9, FHE! Frazaret (i) fefsoma s feforrs

(d) THE-ZI®, IH ufges (iv) AHH I fefomrs
Sudaz = At fies T

(1) (a)-(111). (b)-(1). (e)-(1v). (d)-(11)
(2) (a)-(11). (b)-(111). (e)-(1). (d)-(1v)
(3) (a)-(1). (b)-(v). (e)-(11). (d)-(u1)

(4) (a)-(v). (b)-(1). (c)-(u). (d)-(u1)
Options:
154754592 1
£154754594 2
6154754395 3
15475496 4

Question Number : 124 Question Id : 615475126 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



gt 1 eI

(a) fufrs, sfrres (1) gusst ferrems

(b) =orE €, waer I fomr€ 1) 83 g feforrrs

(c) =99 °I9, FHE! Frazaret (i) fefsoma s feforrs

(d) TEE-ZIE, I ufses (iv) AHH FHET fefomrs
Sudaz = At fies T

(1) (a)-(111). (b)-(1). (c)-(1v). (d)-(11)
(2) (a)-(11). (b)-(111). (e)-(1). (d)-(1v)
(3) (a)-(1). (b)-(v). (e)-(11). (d)-(u1)

(4) (a)-(1v). (b)-(1), (c)-(1). (d)-(1m1)
Options:
£15475493. 1
£15475494. 2
615475495 3
515475496, 4

Question Number : 125 Question Id : 615475127 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fet I Fot 11
(a) wET9 AlETH (i) FAed
(b) wHIHIS FE5 (1) S
(c) nAHT TF (ili) wAt oS B S
(d) fodwe i oo (iv) G7c &t ofy
Susas = Aot fies T

(1) (a)-(11). (b)-(1v). (c)-(11). (d)-(1)
(2) (a)-(m1). (b)-(1). (e)-(11). (d)-(1v)
(3) (a)-(1v). (b)-(111). (e)-(1). (d)-(11)
(4) (a)-(1). (b)-(11). (c)-(1v). (d)-(111)

Options:

515475497, 1

515475498, 2



B1547543%9. 5
515475500 4

Question Number : 125 Question Id ;: 615475127 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Aet I get 11
(a) weSTg Afsnree (1) FEx
(b) nHIHEIS =5 (i) S
(c) WAHT 38 (iii) oA &% B Aele
(d) fodwe i oo (iv) G7c &t ofy
Susas = Aot fies T
(1) (a)-(11). (b)-(1v). (c)-(11). (d)-(1)
(2) (a)-(111). (b)-(1). (c)-(m). (d)-(av)
(3) (a)-(1v). (b)-(111). (c)-(1). (d)-(11)
(4) (a)-(1). (b)-(11). (e)-(1v). (d)-(111)

Options:
615475497 1

B15475438. 2
615475439 5
615475500 4

Question Number : 126 Question Id : 615475128 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

forafafz srear & Aot fefsora ax T:

(1) ¥e9 791, I syes fRw, Har AHEY, AUG o2
(2) IH Byere fAw, 5 ANEY , AUS 529, 999 g9t
(3) Har ANES , AUG 572, 9e9 J3t, I BuesT (A
(4) AUS o'ed ,gu9 I, 3 ByeTsT fRu, Har AT

Options:

E15475501. 1
B15475502. 2
6154755032 5
615475504 4

Question Number : 126 Question Id : 615475128 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



forafefus s = mat fefsoma aH T

(1) ¥=9 o9, I syers fRw, Har AHEY, AUS 529
(2) I ByTeT fAw, Har AYES , AUS &'Cd, 999 J91
(3) Har ANEY , AUG 5’2, 999 J4t, I syTsT Ay
(4) AUS o'cd ,gu9 I, W SyeTsT fRu, Har AHES

Options:

61547550101
615475502 2
615475503 3
E15475504 4

Question Number : 127 Question Id : 615475129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AE g ¥ fam = faoer 2 Aot &dt 39
(1)  Io= 7g, O Ag, MEEeT A
2) fer 7, @ AE, gow A

(3) foor Ag, A AE, METESHE AT
(4)  TEe AE, T A'E, TOSHA AT

Options:

615475505, 1
615475506 2
615475507 2
615475508 4

Question Number : 127 Question Id : 615475129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A g ¥r fame & fager e At adt T
(1)  Io= 7g, O Ag, MEEeT A
(2) foer 7, aw Ay, g A

(3) foor Arg, FHE TR, METETSHE AT
(4)  TEe AE, T A'E, TOSHA AT

Options:

615475505, 1
615475506 2
615475507 2
E15475508 4

Question Number : 128 Question Id : 615475130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
AHH 3R- fefomrs nigrme 3 @ woreyma 33 95

(1)  FHE 5239 M3 AHTRE gU
(2)  RAHTAE 5239 W3 FH YAd
(3)  FHfAe AfEsf »i2 TFE- yEO
(4)  RAHTEE Ue9s w3 IR =83
Options:
615475509, 1
615475510, 2

515475511 =5
E1547551Z 4

Question Number : 128 Question Id : 615475130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AN 3TR- fefomis nigAs o7/ @ oroey®a 53 75

(1)  3Fx 5238 M3 ANTHE 39U
(2)  RAHTAE 5239 W3 FH Y@
(3)  RAWTAE AfEShT »S ITHE- YEO
(4)  FHTEE Ue9s wiT sEw o83
Options:
615475509, 1
615475510, 2

E15475511. =2
E15475512 4

Question Number : 129 Question Id : 615475131 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

grt Ao € URret nigeee @ FOt de 9

(1) fimrar fRw mfaeret, 57, ofsswes fAw, aeonts fiw, s

(2) =, gr99uE fAw 9w, Her 50Te9 afEs, 935 fRw Fat, fasus fiw aFs
(3)  FEeHz fiw, 4. yss ffw, Fa soes d@fes, 5. goeun fifw 29=

(4) . g99uR fRw =97, fasus fiw afs, Fudts, o gore9 afes

Options:

6154755121
615475514 2
615475515
615475516 4



Question Number : 129 Question Id : 615475131 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

grt Arfaz § UwEt wigeear & A4t §e 9

(1) fimigr fRw mfaeret, 57, ofsswes fRw, aeonts fiw, s

(2) 57, gr9eyE AW 9w, Her §0ve9 afEs, 935 Ay Hat, fasus fifw ars
(3) o=eHs fAw, 4. ygs fRw, Ko soee a@ifes, =, gomur fiw =5

(4) 57, geEyR fifw 29w, fasus ffw R, Fuds, @ soes afes
Options:

615475513, 1

615475514, 2

615475515 =2
615475516 4

Question Number : 130 Question Id : 615475132 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Fogoreret fosar = Fot =99 7:
(1)  =osfoa AHAs, &9t feomes, 7oEs g9
(2) 75 Aoo9w, mifswes TEle, AT fHew
(3)  #o=s gud, 959C HEd, 3999
(4) 1S HES, 3992, MEIZERT

Options:

615475517, 1

615475518, 2

E1547551%9. 5
515475520 4

Question Number : 130 Question Id : 615475132 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Aegoerel fagar = Aot =991 O
(1)  =ssfox AHAG, &4t feames, Aores o
(2)  #% ACew, nioAas TEie, A9 fiee
(3)  #o=s gu9, IU9C AEH, 3998
(4)  Und HEY, 3T9¢, MHISERT

Options:

615475517, 1

615475518, 2

615475519 =2
615475520 4



Question Number : 131 Question Id : 615475133 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HaaRTe! ferdt T geaet = niftrs &9 =% fé3er o At 2 9:

(1) =, 395 fRw, 5, ofssas fAw (2) Hz fiw m, U, fams A
(3) =t Ay fiw, A ffu 7Y (4) 3. 395 fiw, 37, AT fiw
Options:

51547552101
615475522 2
615475523 3
615475524 4

Question Number : 131 Question Id : 615475133 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HaRee! fendt T geEEt = nifirs &9 =% fé3er o mdt 92 9

(1) . 395 fRw, 5, ofssas fAw (2) Hz fiw m, U, fars ffur
(3) 3t Ao fRw, Az ffw /A (4) 3. 395 fRw, 37, A9 fRw
Options:

B154755210 1
615475522 2
615475523 5
615475524 4

Question Number : 132 Question Id : 615475134 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

a7 o wive feed afe-gu 3 Tdars o o d2 Wt o 5
(1) U2, ASA, 9 - T9 50 &%

(2)  =8u=, ASA, MACUSMi- I MHT TH

(3) Fe¥, €3, 98UE- I9 TH TH

(4)  A®A, AEE, UT9- P9 391 §O=T

Options:

615475525 1

615475526 2

615475527 3
615475528 4

Question Number : 132 Question Id : 615475134 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



79 g mfos feus afe-gut T gdtae & fagst g2 At &4t 9:
(1) U<, A8, ¥9 - T oo =7

(2) g8u=, AEA, niASUEMi- T9 MHE TR

(3) A®d, B3, S8US- @9 91 TR

(4)  FOI, AEE, UT9- 39 397 5=

Options:

615475525, 1

615475526, 2

E15475527. 3
E15475528. 4

Question Number : 133 Question Id : 615475135 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

S FH MgATS Urret farrarsr o faosT =sa1 Rt 9

(1) II9 MTE, THH, TEIHS (2) wifoees, oTHE, TE® FO
(3) HOE®, SE9WTg, Aetd &t (4) =fem, I9v91 niwTE, FaeTs AU
Options:

B15475529. 1
515475530 2
615475531 =5
615475522 4

Question Number : 133 Question Id : 615475135 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

% FH nioATS Unret feArers o fxosT s34 At 9

(1) TIE MTE, THH, TEIAT (2) wifoees, THE, TF% F9
(3) HIE®, SE9WTd, ASIE &8t (4) IR, II91 n=TE, TS A
Options:

£15475529. 1
615475520 2
E15475531. 5
515475532 4

Question Number : 134 Question Id : 615475136 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



BHmr eI afes=r @ g 2 AT =94 T

(1) ofgsws fRw, ARRS 789, U'S &9, 5237 5931

(2)  ofgsws fAw, Hoows, feoms Tyeow, nfes aHs
(3) fae o, AR Ste, Tois, Fufeeg nifys

(4) USfHETHIS, WAHT 95, HIHAIS a&AL, MEdH

Options:
615475533 1

E15475534. 2
E15475535 5
515475536 4

Question Number : 134 Question Id : 615475136 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

SHr fagsi3a afez= € @ = /At @991 9

(1) ofgsws fRw, ARES #89, U'S &9, 5939 393t

(2)  ofgsws fiw, Hoow3, feams sy=ow, nrfee oS
3)  foe o, AR e, s, mufies i

(4)  UIHETHIS, WMAHT I3, HOHIS THAL, WESH

Options:

615475532 1
615475534 2
615475535 2
615475536 4

Question Number : 135 Question Id : 615475137 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

I fefimi a5 fame wga AOt §

(1) =fes ffzs- Aoow o U=r- ToHts afsnrest
@)  fordt mears- Saafel- mmew fw Tos
(3)  AHfSaes- gT ge='- T9FG U9

(4)  fi=- AaE- wides o

Options:
6154755371



E15475538. 2
615475539 5
515475540 4

Question Number : 135 Question 1d : 615475137 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

75 feftmi fed’ fage T9ar At 9

(1)  =fes fizs- Aoee o U=T- TOHs afsnrest
@) fordt mias- Swafel- mmew fw T
(3) AHfSaE3™- g€ Je=- T9AG U9

(4)  fie- Aaz- Hises o

Options:

6154755371
615475538 2
£15475539 =
E15475540 4

Question Number : 136 Question Id : 615475138 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FEG (A) ;. UsHt Ffoz f83w froe a® -us © foow o ot o9t Aar fAo=a miz feoguea f5-A<oat &
feos am & dow w3 mfdT ySuer T gu fem feame dfenr 91

795 (R): fa€fa et woar © feam w3 mastast G99 5 Gow ® femes § fomrs & frovws »i2 yeos

= ferm W& TS &3
T3 fofimr e feozr s At T
(1) (A) At 7 w2 (R) 7153
(2) (A) aI%3 g mT (R) At

(3) (A) 7t T m= (R) wife= Fat

(4) (A) »= (R) % ATt 95

Options:

615475541, 1
E15475542 2
615475542 o
615475544 4



Question Number : 136 Question Id : 615475138 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FES (A) . UMt Aoz o frae o —¥s T foow o ot oot Fer frosa w2 feorouea So-A<odt =
feow am @ dew w3 mHfdT uSusr T gu feu feame dfenr 31

95 (R) : fa€fa vet yoar @ feam w2 sosteet G99 & Gov @ femew § fomrs = freds = ygos

= ferE ¥ yg=s &1
T5 fofimr fes faosr S At T
(1) (A) AGt T w2 (R) 7153
(2) (A) o185 7 w2 (R) mat

(3) (A) ATt Mz (R) »ifes At

(4) (A) w3 (R) & At 95

Options:

6154755411
615475542 2
615475543 2
615475544 4

Question Number : 137 Question Id : 615475139 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TEG (A) :  HEd! nrufea Ut qovet few uR Hoadt @a -aw = fReAesHa guises wofoasT 2 yAa

feg amst T 3 TR UR Ueit aoE-guas I g3 g9 gast ¥ UAHEes = 99 wufInre
Faet 71

95 (R) : wrufsa At goeiars et aovet € guars § 3 dt afae o9 Aa 7o S a® aget gu9e
T Foys fegm yus A

I feftmr e faoo €39 At T

(1) (A) At T mF (R) nifEx At

(2) (A) ARSI (R) @I T

(3) (A) »3 (R) ¥ At 75

(4) (A) »3 (R) TF »ifae ROt 95
Options:

515475545 1
615475546, 2
615475547 3
615475545 4



Question Number : 137 Question Id : 615475139 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

EG (A) . Hesl wofew Urrdt soret fem uR Hoast @a -aer v fRenesHa gutses nrofoas € yFar

feg =t T M3 TR UR Ueit auEt-guas @i o3 g gast ¥ URdlees = 99 wfre
Faet 71

9% (R): wufea Ut aodiars UeHt a0t € gues § 3 df gfoe a9 Ra Ao €5 a5 Jgat 3890
T g9y fegm yus A

¥o fefimi fes foga €39 AT T

(1) (A) At T w3 (R) nifx Aot

(2) (A AR I (R)T®I T

(3) (A) 3 (R) 2 At 75

(4) (A) 3 (R) ¥F »ifae ROt 95
Options:

615475545 1
615475546 2
E15475547. 2
515475548 4

Question Number : 138 Question Id : 615475140 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FEs (A):  ferenit rfewes feu Aale 3 oex ¢ &t ¥y yus odt, st fa aon fssuy st rfgmers
fem g1

95 (R): AHTAx, oefia 3 it wage @ Fege ufaRsor UAd oed 3 JHe 39St oex I
Fanig I »iar faor 71

forafafuz fed faos Gsa At T
(1) (A) At T w2 (R) T%3 T
(2) (A) TIBI T M (R) AT T
(3)  (A) »F (R) &2 Aot 05
(4) (A) m3 (R) 5% 7183 05
Options:

615475549 1
E15475550. 2
E15475551. 5
615475552 4

Question Number : 138 Question Id : 615475140 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



FES (A) :  ferenit Afenmas feu Aaiz 3 oo § &9t ¥® yus o, fAat fa gen fssuy sast Afsmmas
fem g1

95 (R): AWAx, oefia 3 it wage @ gege ufaRsor UAE 5ed 3 JoHe 39St 5ex I
Janiw 3 i faor 91

forstsfus fou faos G vt 9
(1) (A) At T w3 (R) a%3 T
(2) (A) TIBITMST (R) AT T
(3) (A) w2 (R) T2 At 75
(4) (A) m3 (R) 5% 7183 05
Options:

£1547554%9 1
615475550 2
E15475551. 2
E15475552 4

Question Number : 139 Question Id : 615475141 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TES (A):  HOY I=® ISt BT oot MG, uT 331 7 faR 99 yew I fan Gu AT sfv & o7t mee
T9s (R): Hoy 2 AT sfoz =2t Afgwisr nees yeoew G3ues & &3 afenrst 91

5 fofimr fev fao €S Rt 9

(1) (A) W3 (R) &= ATt o5

(2) (A) At T »i= (R) »wrifes At @
(3) (A) R Tm3 (R) a5z

(4) (A) »3 (R) 2= nifee At o5

Options:

6154755531
615475554 2
615475555 =
E15475556 4

Question Number : 139 Question Id : 615475141 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TES (A):  HOY o= 9t BE od MG T, US 31 7 foR 99 yew I faw Gu A€ ofv & ot mue
9% (R): Hoy = A% sfoz =2t Afow=r nees ueoew §3u=s & &3 gfonret 91

5 fofimr fes faoa S Rt 9

(1) (A) W3 (R) &< At o5

(2) (A) At T »i= (R) nrifex At T
(3) (A) At I w3 (R) o853 @

(4) (A) M2 (R) &2 nifeer At 75

Options:

615475552 1
615475554 2
615475555 o
615475556 4

Question Number : 140 Question Id : 615475142 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

qEG (A): AT HEEH ouw feen few W & U wioET o USRI AoaTeT TeM SeoTe feue I6 37
&5 § us=t oz & a2t fem i 7 AT 9

95 (R): fo8fx ysert Ao o Aafas €9 us & soor= oA aua & & fedftor a5 |

I5 foftmr fed fooar S39 Faft T

(1) (A) = (R) & At 75

(2) (A) »F (R) €F 7153 05

(3) (A) Rt T3 (R) T3 T

(4) (A) 7153 T w3 (R) At @
Options:

615475557 1
E15475558. 2
615475559 3
E15475560. 4

Question Number : 140 Question Id : 615475142 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FE5 (A): AT YO ou feRE fem W & WU wTET 5T USTTHI ASEe TEM SEoTe feuE I6 I
85 3 st Args & a3t few dfimr 7 AT T

F95 (R): 8Tz ygert reas o Aafas €9 e ¥ sgo= HoTHT B & 1 fedor a5 |
T5 fofimr feg o Sze At 0

(1) (A) w3 (R) &% At 75

(2) (A) »iZ (R) &F 7153 5

(3) (A FRATMNT R TSI T

(4) (A) 752 T w2 (R) At T
Options:

E15475557. 1
E15475558. 2
515475559 5
615475560 4

Sub-Section Number: 2
Sub-Section Id: 6154756
Question Shuffling Allowed : Yes

Question Id : 615475143 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension

I f&3 U9 € wroe '3 yEe 389 91 F 95 33 ¥ €39 fE6:

Tr3fer W2 THUlsa € A8 § TAZ w3 gU ©t 999 991 AMTTEE T A% @K weR T ge faor 91 feR
=%3 ¥ »roe 3 A5 fefsoreet nruEa Afgs ¢ fefsom = fifa s & goe 701 €9 € fiso fom fem 39t
¥ few 7 fx G arfe-wions, 3 3 &t g7 aor-wftons, &, due, da »rfe =fa gudiz o AHAET Hoe
T5, TEte 3E vy 3y fes fem g9t O 919w fouw, foiy Wit &3t | st TRsfeR § fam deR
Hitmin Idt areufsar sa8z = & odt Ifew fem st ARe-fremes 91 frR § ueee fom oRsfem
HOee T & ¥% 7 UT fAR § mefoor @R i g3t € w3 &t 7 e 91 Arfos-gEr & fedues
= nrog feg 7 fa Afos @ = wigeee 9= 714® s few 7 fa fem A ® gege & Afoz -ARw
TAI-ARY 3 T 31 afes fou o=t oz & fan Ae3r fam V- feu AEos geer Y= do J1us
gfesr =t 3 5919 & 55! I, THIfE EG TS = g9oHat feg Gufoer ot 7 meer) fe| &fesT new
AEfSmi § WMo AN -FAEo' fes AaUs a@e! J, TR3fea o8 el &2 o9 A A8T oo |

Sub questions

Question Number : 141 Question 1d : 615475144 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fefsaret nrgwar few ot 332 97

(1)  Gu mfos g feforws o a5
(2)  Bo mfoz § TS How 5|
(3) G mfoz ¢ fefsow = fig How oo

(4)  Su mfoz § ANH T SAS=H Ho® 75|
Options:

615475561, 1

615475562 2

615475563 3

615475564, 4

Question Number : 142 Question 1d : 615475145 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TH T HPme &8 3T foe St 97

(1) =% »y gy fegs few dat 98t 92 91
(2) T, §%E W2 HEG © &4 e 9
(3)  FHT yT §S%ST T

(4) FTHT &% T HTomH T

Options:

6154755651
15475566 2
E154755E7. 2
615475568 4

Question Number : 143 Question Id : 615475146 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TR w2 Jy Tt =23 It TRSfeR w3 Foufsa € AaTr = fsae faf ot o3 7 FreEr?

(1)  mfoserst Trsfa § awufe aor8z & @35 T1

(2) faBfe rigsadt (awarst) TRsfea ¢ fan g9 Wity ot areufsa aolz = =6 a4t |
(3)  mfosarst fods AR = U3 T

(4)  mfoz & gu »3 =Ag oHE fouse 99 To1

Options:

6154755649 1
E15475570 2
615475571 5
615475572 4



Question Number : 144 Question Id : 615475147 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Ffos g &t feduzsr & o &t 97

(1) feg mfos o855 = Too6 951

(2)  Ffo3 g Afos &8t oHE Fgdt T5

(3)  mfaz g5 99 A few fET 397 S g T |
(4)  feg mfoz au5 = vigage S9Emi I35 |

Options:
154755721

E15475574. 2
B15475575 3
615475576, 4

Question Number : 145 Question 1d : 615475148 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TH3fex a8s M2 Ao a=s fev ot »izs a7

(1) =w3fex a8s == &t FAgowst few Agw odt Aefx Afosa 899 (afesr) wdw Fefanr 3 a2t AN
AES , 3 REfag § Aeet 91

(2) TR3fex g=c ot Afozw 55 T & Afos 5227 91

(3) =wH3fex gus TosT O ggoHet few Sufonr & AaeT 9 Fefa Afase aus ot |

(4)  mfos= ows TRsfex aus = yIifdw ot 9= 91

Options:

6154755771
615475578 2
615475579 o
615475580 4

Question Id : 615475143 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension



I &3 U9 ® v '3 yEe 389 91 F 05 39 ¥ €39 fE6:

Tr3fea W3 TEUfsa € A8 § TAZ w3 gU ©t 99% I91 AMT'EE T A% ®H weA ¥ gv foor 91 feR
=93 ¥ WO 3 A8 fefzomet wigea mfos 3 fefsom = fig s 3 oo= 051 € 2 fise fam fem 35t
3 feg g fa G arfe-witmm, 37 § &t g8 aor-witmnd, S, Uee, dar nife =far gudiz o=t Mt Hew
T5, Teta IE vy 3y feus fem 95t 9% 917w fouw, fomdiy Wity &t | st TRsfea § faA deR
Hitmin It areufsar ao8z = s odt ife fem fust ARe-freaes 91 frR § weee fom TRsfem
HTEe T a1 ¥% 7 uT fAR § Aufowr €F S g3of ® v 3 Ot 7 e 91 Arfos-gEe & feduEe
= nrog feg 9 fa Ao a@s & woeee a9 9148 o= feo T fa fem A © gege & Afos -ARe
TAI-ARY 3 ST 71 afes feu o=t 7oz & fan Ae3" far Av-FAes feu Aags aeer =3 do T1us
sfesr 7=t 3 5919 § 55! I, THIEF FEG THIT = FIoHat fov Sufoer st 7 meer | few e wEw
AEfsmit § naa AN -AE few AE0e o@e! 7, TR3fed g8 BEt &€ &9 AoE’ A3T &t |

Sub questions

Question Number : 141 Question Id : 615475144 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fefsoret nregar feg ot 392t 99

(1)  €orfos g fefornrs Ho= a5
(2)  Bg mfoz § TS How 95|
(3) G mioz g fefsom = fig How o

(4)  Bv mfos § AHA & A=A Hoe T6 |

Options:

6154755611
615475562 2
615475562 o
615475564 4

Question Number : 142 Question Id ;: 615475145 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

oW & Hme &% 3T foe st 97

(1) == oy gy feos few g5t 92t 9= 91
(2)  oHT, 9%E W HEG © aH e E 7
(3)  THT ¥E 55 T

(4) FTHT % T HTOmH T

Options:
615475565 1
615475566 2



E15475567. 3
515475568 4

Question Number : 143 Question Id : 615475146 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

<R3 w3 Ju ¥ =%3 I TRfea w3 aoufsa € Raor = fsaz o8 oot oz & Fe=r?

(1)  mfosorst Trsfea § aoufe aor8z = @35 T1

(2)  faBfe migsardt (Fwarst) TRsfea g fan I8 Wity It areufsa aolz = &35 ot |
(3)  mfosart fods AR = uS3 T

(4)  mfoz &t gu »3 TAZ oHE fouse 99 Oo1

Options:

615475569, 1
615475570 2
615475571
615475572 4

Question Number : 144 Question 1d : 615475147 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Aoz gt & fedze & wrore &t 97

(1) feg rrfoz 8w = To9€ o5

(2)  mfoz g Arfos ®Et oXET Fgdt 35|

(3)  mfaz g 99 AW few 8T 397 S gEr T |
(4) feg mrfoz aEs & nioeas F9em T5 |

Options:

6154755721
615475574 2
615475575 o
615475576 4

Question Number : 145 Question 1d : 615475148 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

THIfeR gus »3 Ffosa a8s feg ot nige 97

(1) TA3fen oEs == &t fA9uast few Aow odt Aefa mfosa €9 (afes) waa mafant § a2t AN
FEST , 3 REfag § Aeet 91

(2)  =wsfex sws ¢t Afosx a8s 7 & Afos g8 91

(3) =wH3fex gus TasT O sgoHet few Sufonr & Aaer 9 Fefa Afasy aus ot |

(4)  Ffos= sws TRsfea aus = y3ifdw &t ge T

Options:



B15475577. 1
615475578 2
615475579 5
E15475580. 4

Sub-Section Number: 3
Sub-Section 1d: 6154757
Question Shuffling Allowed : Yes

Question Id : 615475149 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuestion Label © Comprehension

It 83 U9 2 wroe '3 yms d99 96 ¥ 100 37 T €39 o6

grast sETeT &t Arfosw fefsomardt fox mifigor fomr @ 8 7 nerefim U adt 37 U2 oz St 0F &t 9
I8 wiEditenr foor 91 fem € wores ' 3 Fest e |, =eWs, fI3ST aw, WISt @, 9s a, wie ¥
fefimi 3 Afos o8 fa2 <0 fors fésr fomr 91 feR = a9s mfew feo § fa A=t ARfgst @ fam <t 99
¥3s few den &t ygz 3 fe33 €390 3 fooraw 291 5@ s &4t &z fimr fager g=st A=t 3
Aot 2 u=e fem dfenr 91 now fefsoma aes w2 wegehr | gy = fE8 faee oz &t &3 &4t ©
a9 At IHCs! feerer feg viaeHt 3 ¢ fesat <5t Aeest yeus g ot fa Rt 39 ' 3 ISt g
Rfsnraraa yaree w3 Ae'9 € dF HISST 8 MmN 8% & 3fg ot feg 3= Ot Aee ofenr 7 fa@fa
IR &t ATt feerer T wizears wiagdt w3 sost o feo® 7 oron €5 I%t 0 OF fem At €0 Wt
AEaeHMT frg? & & 37 AS noEl Aeare o fHor Adn @ & Ae famrs 2 f8s 8 femdfent © 2oz 5
71 feg Aef nigst 37 § AU fddhor g O | et IRt @1 293 93 dv 9 SE-afEs awufoa
fougt 7 526 gt 3 fomrs Gurer &= =t &St 7t 91 feRm = ufgew feo foafenr T fa 78 g9t
feg Uer dfonr o5, e I8 o5 | IeSt IEET @ wifAT GEGTET WeHmE & FaSt Aios wiS Afosw
Aeoor Audr fexg wifadt fifer 9353 S3Us a9 83t @ 7 A= niaw femers, wuE niy ¥ 3o = fom
oS oftmme 31 aEt 3T oF & G 7 79, A dftm w3 nwerefie feee-Teel fem mfoz w= 3
nigrgat, »HEtat 7 UsHt oSt € yaee fes ot y=o stz e 91

Sub questions

Question Number : 146 Question Id : 615475150 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks : 0
grgst g & Afosa fefsoRaret dfua vy wizast @€ a9t ?

(1) uesHt fifipor <t Sfger o fonmar

(2)  UeH ¥t ygT § €5FO »E FHoE REEEST

(3) U=t ARfESt @ Yy § fowma &=

(4) fiEt 7w g, 393 € gl IET € HOES w09 SeH 2T

Options:



5154755811
615475582 2
615475583 5
E15475584. 4

Question Number : 147 Question Id : 615475151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FrEst I, RET ¥ d HosSeT e o€ gz & sfo g7
(1)  Eftmzr &t we a9s

(2)  FE- feforsx 39 3 ysgUs o9n

(3)  wivaet 3F T 159 95

(4) TGS FEE T WUAT TET TG

Options:

£154755585 1
615475586 2
615475587 o
615475588 4

Question Number : 148 Question Id : 615475152 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fra3t TR ot frerse =99 fan HaRe B 3t 9at?

(1) 79 gfuw, aoufsw feust 7 feomt st 5 fomrs Gurer &2 met
(2)  fomroes fefr 3 yare aes wet

(3) @It Afas & aftesT § yaie a9o Bt

(4) FEex FEE 3§ Fx T o6 AI6 SE
Options:
615475589, 1
615475590, 2

615475531 =5
615475532 4

Question Number : 149 Question Id : 615475153 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



grest gTETE ¥ a9 Afos few Sfua féresr w2 sew frassT o€ 97
(1)  wigEst 37 T gat a9

(2)  fefmr &t AifHs = aos

(3)  fomrseoum feust 2t nisewt &t y33T § Aelore a9 &=

(4)  AEwE IR T f&fir § nus@e

Options:

6154755932 1
615475594 2
£15475595 2
E15475596 4

Question Number : 150 Question Id : 615475154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fast FEE T GRGET MIHBE T YSIes J

(1)  weH-fete 3 nruE vy 3 2oz &t 520 = GuweE
(2)  nrH-f3ust & fiffer o feaRs o=

(3)  F=sEt FEE € feamR-aur = feEaedt

(4) 393t ITRTET ot HOUHT 39a

Options:

615475597, 1
615475598 2
615475599
615475600 4

Question Id : 615475149 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label @ Comprehension



Io* &3 U9 @ woe '3 yEs dE9 96 ¥ 100 3w © €39 o6

grast sETeT &t Arfosw fefsormardt fox mifitor fomr @ 8 7 nerefis B adt 37 U2 oz St 0F &t 9T
I8 niEditen fogr 71 feR € yores ' 3 g9t e, weWs, fO3ST aw, WISt @, w6 g, wie ¥
fefimi 3§ mfoz o8 a2 <0 firs fésr fomr 91 feR & a9s miEw feo § fa 7t ARfgst @ fam &t 99
¥z3 fem ven &t ygz 3 fe35 €390 3 fooraw S 5 mdas oot &z fimr fagsr gest et 3
Aot 2 u=e few dfenr 91 now fefsoma aes w2 wagehr |, frgy = 88 fame oo &t &3 ot ©
a9 At IHCe! feerer few viagHt 3 ¢ fesat <5t Aeest yTus g et fa wRet 39 ' 3 3est gEw
Rfsnrarag yaree w3 Ao'9 ¢ 3 HISST =8 HMH 9% & 3fg a1 feg 3= Ot Ae= ofeor 7 fa@fa
I8 &t ATt feerer T wizeers wiaedt w3 sost o feo® 7 Ton €5 I=t 0 OF few At €0 Wt
ASgeHMT frg? & & 37 A8 nHEl Aeare o fHOr Adg @ & Ae famrs 2 f8s 8 ferdfent © o2 5o
71 feg Adof nieewt 377 § AU 5 ool o5 | 39St e &t T8F 593 g% S0 IT-aEs aeufsa
foust 7 s2t gt T fomrs Goror &= =2 &St Wt 91 fem = ufsew feo foafenr 7 f& 75 w93t
feg Uer dfenr o5, e I8 o5 | ISt FEET @ wifAT GEGTET MEHmE & F9St Aos »iS Afosw
Aeoor Audl feg mifadt fifer 9353 83U ag 83t @ 7 A= niaw femers, wuE niy 3 3o = fom
goes oftmre 91 aEt 3T aF & G 7 #9, A dftw w3 neefie feee-sees fem Afoz w= 3
nigrgat, »iHatat 7 UsHt oSt € yaee fes ot y=o stz e 91

Sub questions

Question Number : 146 Question Id : 615475150 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

grg3t I ot Afosw fefsomarst sfue U wizeet &g adt?

(1) et frfipr &t Sfgee = foomar

(2)  UsH ¥t ygT' § €5FO »E FHoE REEEST

(3)  U=M ARfgSt ® yze 3 oo 2=

(4) fdfsE 3§, 393 T ot FE T HIES 09 ST =T
Options:

615475581 1

615475582 2

E15475583 3
615475584 4

Question Number : 147 Question Id : 615475151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



g9t TR, HY'g € 3 HO3ST T a8 5= & sfo arghr?
(1) o=z &t we 595

(2) ga- fefemrss 39 3 ussus &95

(3) aaH! ITHT € 7158 a95

(4) FTI3t FTHRT @ WUAT SEIT 96

Options:

6154755856, 1
615475586 2
615475587 o
15475588 4

Question Number : 148 Question 1d : 615475152 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Frast gETeT o fimrerse =99 faw v BT gt 9Ot

(1) 3= dfte, aeufsa feus 7 feemt = 3 famrs Goor &2 =2t
(2)  fomroes et 3 yare a9n met

(3)  oTgITot Afog & &ftesT § yae 996 Bt

(4)  FEeE FEE § fFa oH oE A3 o

Options:

615475589 1
615475590 2
15475591 2
615475592 4

Question Number : 149 Question Id : 615475153 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
grest g @ gEsTe Afgs few dftw feres w3 e fressT o€ 97
(1)  wigEst 37 T gat a9

(2)  fefmr &t AifHs = aos

(3) femraeeuw feust w2t vioest & Y337 § AelorS a9 &F

(4)  AEwE IR T f&fir § nus@e



Options:

6154755932 1
615475594 2
£15475595 =2
615475596 4

Question Number : 150 Question Id : 615475154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

FrISt FER T GAGHT MIHBE T YIIes 3

(1)  w3H-fedee 3wy vy §° ez &t 530 = Gume
(2)  wH-f3ust &t fifenr = feaRs o=

(3)  F=Et FEE € feamR-awr = foEaedt

(4) g3t IR S gt 39

Options:

615475597, 1
615475598 2
615475599 o
615475600 4



